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7. If the ordered pair (x, y) satisfies the sys-

) tem of equations above, what is the value

of y?

A) 0
B) 7
C) 10

NORMAL FLOAT AUTO REAL RADIAN MP

Plotl Plot2 Plot3
I\Y1BiX+4
I\Y28%X-4

NORMAL FLOAT AUTO REAL RADIAN MP II

CALC INTERSECT
Y2=3¢7X-4

Intersection
¥=35




September 19, 2019

y=txre T _q/B(x)+y = 4
y=sut -3/7(x)+y=-4

7. If the ordered pair (x, y) satisfies the sys-

. . N
) tem of equations above, what is the value B R |
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8. In what quadrant will the lines represented
by the equations above intersect? 3

) JQuadrant I

B) Quadrant IT

C) QuadrantIII

D) QuadrantIV
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9. If10a=6b+7 and a—6b = 34,t
“Yov Xbb

what is the value of ——a?

A) -1
) 1

loa= (bt

41

27 - [ -

i 5
D) —

0 e

10. Inaddition to the standard airfare, a par-
% ticular airline charges passengers for two

kinds of travel services) $25 to check a bag
and $15 to upgrade to priority boarding.
If the airline collected $3,065 in baggage
and priority boarding fees from 145 travel
services on two flights combhﬁ&'ﬂhich
of the following systems of equations
could be used tg determine the number of
bags checkedﬁnd thepumber of prior-
ity boarding upgrades{(p)Jpurchased on
the two flights?

A) b+p=145X2
25b+15p = 3,065 x 2

‘ B)? b+p=145
25b+15p = 3,065

C) b+p=145
15b +25p = 3,065

D) b+p=l—4—5

06,
15b+25p = 2’2—5

b p=(45
2l b +159= 3045
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11. The most popular items at a bakery are its
% raspberry scones and its lemon poppy seed

muffins. The shop sells both items in boxes
of 12 ata cost of $15 per box of raspberry
scones and $9 per box of lemon poppy
seed muffins. On Friday and Saturday, the
shop earned $396 by selling a total of

46 boxes of these two items. If rand
represent the number of boxes of rasﬁerry
scones and lemon poppy seed muffins
sold over the two-day period, respectively,
which of the following systems of equations
could be used to find the number of boxes

ach type of item sold?
r+l=46
157 + 91 = 396
B) r+l=12x46

15r + 91 = 396

C) r+l=46

15r+91=ﬁ
2

‘D) Fel=46x12

396

15r + 91 = —
12

ry L=4(
I5r + 94=39

12. Tricia manages a health bar and wants
to add a new fruit-and-protein smoothie
to the menu. To decide on the first new
flavor she plans to offer, Tricia sold
trial-sized banana smoothies and kiwi
smoothies. She charged $2 for a banana
smoothie and $2.50 for a kiwi smoothie,
and she sold 40 in all, totaling $87. How
much more money did Tricia make on
the banana smoothies than the kiwi

3

smoothies?

A)
B)
o)
D)




